Les pourcentages

Complete comme dans I'exemple :

0,97

o0 97 _
97% = 100 =
50/0 - p—
320/0 - -
200/0 - -

11%




Les pourcentages

Complete comme dans I'exemple :

o0 97 _
97% = 100 = 097
4570 - p—
570/0 - -
30/0 - -

62%




Les pourcentages

Complete comme dans I'exemple :

o0 97 _
97% = 100 = 097
690/0 - p—
340/0 - -
850/0 - -

5%




Les pourcentages

Complete comme dans I'exemple :

o0 97 _
97% = 100 = 097
8770 - p—
4°/o - -
780/0 - -

40%




Les pourcentages

Complete comme dans I'exemple :

0,97

o0 97 _
97% = 100 =
970 - p—
500/0 - -
250/0 - -

5%




Les pourcentages

Complete comme dans I'exemple :

o 97 _
97% = 100 = 097
4270 - p—
71% = =
540/0 - -

41%




Les pourcentages

Complete comme dans I'exemple :

o0 97 _
97% = 100 = 097
29°/o - p—
3°/o - -
570/0 - -

90%




Les pourcentages

Complete comme dans I'exemple :

0,97

o 97 _
97% = 100 =
870 - p—
18% = =
750/0 - -

25%




Les pourcentages

Complete comme dans I'exemple :

o 97 _
97% = 100 = 0,97
41% = =
290/0 - -
350/0 - -

7%




Les pourcentages

Complete comme dans I'exemple :

o0 97 _
97% = 100 = 097
6770 - p—
3°/o - -
940/0 - -

51%




Les pourcentages

Complete comme dans I'exemple :

o  _ 97 _
O7% = 100 = 0,97
15% = =
330/0 - -
17% = =

2 o/o -




Les pourcentages

Complete comme dans I'exemple :

o 97 _
97% = 100 = 097
3470 - p—
18% = =
840/0 - -

9%




Les pourcentages

Complete comme dans I'exemple :

0,97

o 97 _
97% = 100 =
lo/o - p—
14% = =
220/0 - -

47 %




